
3-2 WARM-UP

1. Fill in the blanks below:

(a)
d

dx
[f(x) · g(x)] = (b)

d

dx


f(x)

g(x)

�
=

2. Find the derivatives for each function below and compare your methods:

(a) f(x) =
20
3
p
x

(b) f(x) =
20

x2 + 20

3. Find the derivatives for each function below and compare your methods:

(a) f(x) = 20

✓
x� x3

x3/5

◆
(b) f(x) = ex

✓
x� x3

x3/5

◆
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4. Find the derivative of f(x) = x2+1
xex

5. Assume s(t) = 3tet gives the position of an object where s is measured in feet and t is measured in seconds.
Find s0(1) and s00(1) and interpret your answers.
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( Use Quotient Rule and Product Rule )

f
'
G) =

xeeEx2tEhke1CxeH2-2x2e@2tlxdeYCxeD2.e

×

[ 2×2 - ( x4n( xtn ]

(#2

=
e×[ 2×2 . x3 - x2 - x - if × ?×3 . × - ,

- = -

(×e×)2 ×2e×

S
'
LH = 3. et + Ztet =3 et ( Itt )

5
" (E) =3 et ( Itt ) + Zet . l =3 et ( t + 2)

s
'

(1) =3 e ( Hi)=6e ftlsec .
This is the velocity of the object at 1 second

.

S
" (1) =3 . e. (1+2)=9 e ft/sec2

.
this is the acceleration of the object at

1 second .


